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(@) Advertising was meant to make people aware of the
goods available in the market.

(d) Advertising create unnecessary wants and excess
consumption in most of us. This is a craving for harmful
products that we are better off without. It preys on our
minds rendering us completely irrational.

(d) Advertising does influence people. Most of the
advertisements are filled with images that equate emotional
wellbeing with material acquisition and associate
independence and leisure with consumption of alcohol.
(@ How persuasive the advertisers are in deciding for
us what, when, how much and why to buy.

(¢) Thesynonym of 'strong desire' in the para 2 is Craving.
(¢) The synonym of 'exactly' as given in para 5 is
Precisely.

() The antonym of 'contradicted' as given in para 3 is
Confirmed.

(d The antonym of 'harmony' as given in para 1 is
Conflict.

(c) The suitable title of the given passage is 'All about
advertising'. Hence, option (c) is the right answer choice.
(@) The other word that means 'persuade' is Convince.
Hence, option (a) is the right answer choice.

(@) Andrew Fang is introduced to bowling by his Parents.
Hence, option (a) is the right answer choice.

(d When Andrew is stressed he goes cycling on his
mountain bike. Hence, option (d) is the right answer choice.
(b) Andrew prepares himself for tournaments through
sleeping at-least eight hours a day. Hence, option (b) is
the right answer choice.
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() The most important to Andrew is to graduate from
university. Hence, option (b) is the right answer choice.
(¢) 'Andrew Fangs is a legend in bowling’ means that
his achievements in-sports are remarkable. Hence, option
(c) is the right answer choice.

(d) The synonym of'competition’ is 'feuding'. Feuding:
be engaged in a prolonged and bitter quarrel or dispute.
() "training" in the passage means "Andragogy".

(d) The suitable title for the above passage is "Life of
Andrew fang". Hence, option (d) is the right answer
choice.

(c) Should not (it's an advice that is given)

We should not disturb the committee for such a trivial
matter.

() Need not (to tell that there is no need for unneeded
stress)

It's not a hectic job. You need not stress.

(@ Future indefinite tense (will + verb first form) is used
that is an example of simple future tense.

(@) The children had played in the park throughout the
evening (past tense changes into past perfect tense)

(@) Shesaid," I exercise daily" (it's conversion of indirect
to direct speech)

(¢) He said, "I will deposit the cheque tomorrow"

(d) The relevant aspects that Rakhi should select for
this letter are (1), (3) and (4) i.e. the newspaper's name,
Rakhi's address, and formal tone.

(@ The appropriate subject for this letter is "drawing
attention towards problem of stray animals."
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(c) Yes, to option 2 because of the tone of polite
expectation. "I hope my views get published in the column
of your newspaper so that this issue may garner more
public support and awareness." Correctly justifies the
choice of the concluding portion of this letter.

(@ "help spread awareness about the issue" completed
the concluding line appropriately.

I hope that my letter will help spread awareness about the

issue.

() "Yours sincerely" is written in the end after
concluding paragraph.

(@ We write the introductory paragraph to introduce
the topic.

(@ Mr. Keesing took Anne's essay lightly and laughed.
Hence, option (a) is the right answer choice.

(b) Mr. Keesing assigned her second essay as a
punishment for talking too much in the class through the
next lesson.

(d Mr Keesing punished Anne Frank.

(d) "incorrigible" from the passage means same as 'which
cannot be correct"

(c) After third lesson, Mr. Keesing was annoyed with
Anne.

() The house was located on the crest of a low hill.

(¢) The field of com dotted with flowers promises a good
harvest.

(@ The earth needed a downpour or at least a shower.
(¢) 'Crest' from the passage means the same as 'Peak’.
(@) 'downpour' from the passage means the same as 'Rain’
() 'T'isthe poet himselfhere.

(@) The poet's mood changed when the dust of snow
from the hemlock tree fell down on the poet.

(@ The poet decided to save rest of the day so that
there is no harm or sorrow for him.
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(d) The poet was in depressive mood before the incident
and after the incident the poet was in enjoyable mood.
(@ 'feel' is the closest word that can be used as a
synonym.

(@) dust of snow is the name of the poem

() on hemlock tree the crow was sitting

(@ the crow shook the tree

(@ the hemlock tree represent sorrow

(¢c) Robert frost is the poet of the poem

() Assonance is used in the line, "On pads of velvet
quiet"

(@ Metaphor is used in the line, "in his quiet rage"

(@ Animals and human beings

The poet draws a contrast between animal and human
beings.

(¢) The policy of apartheid created a lasting wound in

Nelson's country.

() Mandel's hunger for freedom changed his life when
he turned from law abiding attorney to a criminal.

(@) A prisoner of hatred

A man who takes away another man's freedom is a prisoner
of hatred.

() The author of the story "the thief story" is Ruskin
bond

() Heis a 'fairly successful hand' at stealing

(@) Anil's wasl15 years old.

(d) Thenarrator described Anil as simple, kind and easy-

going.
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